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(8 MOSt childrey, start to discrlrmnate
(a) First year of life
(b) Second year of life
(¢) Third year of life
(d) Fourth year of life

9) The holophrastic stage is

(a) a stage of early acquisition It
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pes-school years, the child soquires an sverage of
@) 408 new wonds cverydey |
(@) 1 2 new words everyday
D 81012 new wonds cveryday
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> The first stage in planning speech, after the idea is made, s
(2) Building simple sentence strucare
(b) Building complex structure
(¢) Creating agreement relations
(&) Accessing the lexicon
A word can be retrieved using:

(b) Sound
(¢) Both (a) and )
(d) None of the above
While perception, the parser.
(a) breaks down cOmPpIEX SENIENCEs AC R
(b) plans the for the next LN 1N A CONN

(¢) both (a) and (b)
T A N )

(14)



D E:'}‘“ PR AL ”
S G (R e I .“h?u{},g'- |
document it. | |
(a) descriptive grammars
(b) prescriptive grammars
(¢) linguistic competence
(d) linguistic performance

(36) Lexical entries are stored in the mind as
(a) independent words
(b) a complex network of lexemes
(c) a list of vocabulary items organised alp

(d) None of the previous
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Neurolinguistics 15 the stu .
€ (a) the representation of language in the bi
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(o) Fromtal lobe of

O Worniche's s i oseid
() Yemporal lobe o
() Frontal lobe of g
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: () Fromal lobe of the left

) The parser computes relaseniies
(4) Rapidly |
(b) Efficiently
(¢) Both (a) and (b),

(d) Not (a) nor (b)
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Which of the following is a possible non-Englhish werd
(2) cal
(b) yat
(c) fat
(d) hat
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70) The tip oﬂb
( (-)b-hs
(b) b-bl

(€) re



